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MAC 2313 Test 3 Thursday April 11th
Total possible score: 18 points

Question 1. Evaluate the integral using any correct method.
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Question 2. Evaluate the integral by converting to polar coordinates.
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Question 3. Evaluate the integral.
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Question 4. Evaluate the integral.
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Question 5. Evaluate the integral, where R is the region bounded by z = 0,
y=0,and z+y=1.
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Question 6. Evaluate the integral, where C is the straight line segment
from (1,2,3) to (3,6,7).
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Question 7. Evaluate the integral
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where C is the line segment from {1, 0) to (0,#/2). Use any correct method.
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Question 8. Calculate the flux of the field F(z,y) = (x,y) across the closed
semicircular path that consists of the semicircular arc r(t) = (3cost, 3sint),
0 < ¢ < 7, followed by the line segment r(t) = (¢,0), —3 <t < 3.
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